YP03250

TOTO

Hay lap dat theo dung ndi dung trong hwéng dan I&p dat nay.

Sau khi lap dat, vui long ghi tén cra hang va ngay I&p d&t vao phiéu bdo hanh, nhat dinh hay trao cho khach hang

tai liéu nay cung v&i hwéng dan st dung.

I Chl’] y an tOén (Tuan thd nghiém ngét d& dam bao an toan)

Trwére khi str dung, vui long doc ky “Chua y an toan” nay va str dung ding cach.

@ Trong hwéng dan nay, dé& quy khach st dung san pham an toan @ Cac noi dur]g can tuan tha dwoc phan loai,
ding cach, phong tranh nguy hai cho ngwdi stv dung hay ton that giéi thich bang ky higéu hinh anh sau.
dén tai san, ching t6i st dung nhiéu ky hiéu. Cac ky hiéu va y nghia
nhu sau: N
7 KVHEU Y NGHIA D @ L2 n6i dung “BAT BUOC.
Chi | Néu phot 1o ky higu nay va st dung sai, co thé gay thuong 0 Hinh bén trai la “BAT BUQC THY'C
A UY  tich va phat sinh thigt hai tai san. HIEN".
S J
/7 )

Cha y lién quan dén lap dat

/N Chiry

D

B4t buéc

Str dung g6 dan cé do day trén 12mm lam bé mat lap dat.

Lap dat khong chac chan, roi xudng co thé gay thwong tich.

Trwong hop bé mét 1ap dat la twong méng, trang bi gd tang clirng cé dd day
trén 30 mm trwéc sau dé méi thi cong.
Lap d&t khong chac chén, roi xubng co thé gay thuong tich.

Trwong hop bé mat 1ap dat 1a bé tong, nhat dinh st dung né nhwa di kem.
Lap d&t khong chac chan, roi xubng co thé gay thuong tich.

Dung vit c6 dinh di kem dé lap dat.
Lap d&t khong chac chén, roi xubng co thé gay thuwong tich.

Sau khi lap dat xong, xac nhan san pham khéng bij long.
Néu san phdm bi Idng, san pham roi ra, twéng dd ngwdi st dung bi nga, co thé
gay thwong tich.

Thanh vat khan, méc 4o, nén lap dit & vi tri sao cho khéng va vao dau
tham khao khoang cach 1700mm tinh tir mat san.
Néu khong cé thé gay thwong tich.

/4

S

(( . by by ~ N 2 ~ > > - 2 M \\
Yéu cAu khi lép dit Tru’o’ngA hop Atu:o’ng khéng bang phang, hdy dam bao mat phang bang long den

L hay miéng dém.

A\

4

2017.4



http://www.iceni.com/unlock-pro.htm

TOTO

PHU KIEN

LINH KIEN
Pl KEM

CACH
LAP DAT

YH406R

YH408R

YTT408

YTT406

YT408R

YRH408

e

YT406S4R / YT406S6R

v

YT408S4R / YT408S6R

&

YTS406B

&

YTS408B

(Chi str dung cho nén bé téng)

M4 x12

G,
Q @
’(((’(,( ’((('(,(
@, @
Q W
’(""’@ """’@

@4x40

/AN

(Chi st dung cho nén bé tong) M4x12

\A/ﬂ \



http://www.iceni.com/unlock-pro.htm

S INSTRUCTION MANUAL e

TOTO

Please install the product properly according to this installation manual.
After installation, be sure to fill the required information into the warranty card then give customer the
installation manual and instruction manual included.

I m pO I"ta nt Safeg u ardS (For your safety, please follow the instructions below)

( Before installing, please read all the "Important safeguards" then install the product properly )
@The following symbols indicate safe and proper use of the @The symbols are classified according to the
product. Failure to observe them may result in injury or property contents and described as following:
damage.

The symbols and their meanings are as follows.

7 .
( Symbol Meaning \ 0 Mandatory

Ignoring this symbol may result in serious injury or
9 J Y Y wary J The left symbol means "Mandatory"

AcaUtion property damage while using the product.

S
7

/) N—

Caution in installation

Use the plywood with thickness 12 mm or more as the mounting surface.
Otherwise, the installation may be unstable, drop out then cause injury.

In case the mounting surface is thin wall, firstly set the reinforcement
board with thickness 30 mm or more, the install the product.
Otherwise, the installation may be unstable, drop out then cause injury.

In case the mounting surface is concrete substrate, be sure to use the

resin plug included in the package.
0 Otherwise, the installation may be unstable, drop out then cause injury.

&Caution

Mandatory [Please use the included screws for installation.
Otherwise, the installation may be unstable, drop out then cause injury.

After the installation is completed, please check whether the product is shaky or not.
If the product is shaky, it may be loosen, then cause the wall broken, the user
may fall and get injury.

For towel shelf, robe hook, please install at the position so that product cannot hit the
head, refer the distance 1700 mm from the top of product to the completed ceiling.
Otherwise, injury may be caused.

N %
(7 - - )
Requirement for @ In case the wall is not flat, please use the washer or spacer to ensure the flat

mounting position surface. )




TOTO

o0

e

&

YH406R / YH407R YTT406 YT406 S4R /YT406 S6R YTS406B
Accessories @ @ & / %
YH408R / YH409R YTT408 YT408R YRH408 YT408 S4R /YT408 S6R YTS408B
Q. @
:
7 q, @ Q
Included part R T 5 N
Q Q G
neluded parts NG % Q. g, .
NG ¢ ALY,
@4x40 (Only for concrete subtrate) M4x12 I p4x40 (Only for concrete subtrate) M4x12

Installation procedures

/?l__\ﬁ e
\/ / \




